Math 30-1 Chapter 5 Review Assignment p.4

Math 30-1: Chapter 5 Review Assignment

Trigonometric Functions & Graphs
1. For the function 
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 , describe the transformations to the graph of 
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2. List the transformations that must be applied to the graph of 
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3. Complete the table. 

	
	Amplitude
	Range
	Period (in radians)
	Phase shift

(include direction)
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4. For the function 
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, the range is [-4, 8].  What are the values of a and d? 
(T4.9)
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The partial graph of the cosine function below has a minimum point at 
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 and a maximum point at 
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a) Write the equation of the function in the form 
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, where a > 0.  
(T4.9)
b) What if  a < 0, write the equation of the graph in the form 
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6. Given the following graph of 
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a) Determine an equation of the graph in the form 
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,  a > 0.  
b) Determine an equation of the graph in the form 
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 , a < 0.  
c)  Write the equation of the function in the form 
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, where a > 0.

7. A Ferris wheel has a diameter of 70 m and takes 28 seconds to complete one revolution.  Assuming that at 
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 the wheel starts at its lowest point (3 m off the ground), write the equation for the height of a particular point on the Ferris wheel, h, as a function of time, t, in the form 
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  AND in the form 
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8. A piece of gum is stuck to the bottom of Sally’s shoe.  The maximum height that the gum reaches on every step is 45 cm.  She takes 20 steps per minute.  Assume that at 
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 her foot is on the ground.  Determine an equation that would represent the height of the gum, in cm, as a function of time, in seconds.   Write the equation in both forms:  
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9. The function that describes the path of the current children's rollercoaster at an amusement park is 
[image: image29.wmf](

)

2

38cos41

100

htt

p

æö

=-+

ç÷

èø

 where h is the height above the ground in metres and t  is the time on the ride in seconds, determine the following:

a) How long does it take to go around on the wheel once?

b) What is the diameter of the wheel?

c) What is the maximum and minimum heights of the ferris wheel?

d)  What is the height of a rider after being on the ride for 7 seconds?

e)  After how many seconds will a rider FIRST be at a height of 10 m?

10. Determine the 
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b) 
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c)  
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g)  
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d)  
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11. Graphically solve the following equations

a) 
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b) 
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c)  
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d)  
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 (general solution using radians rounded to 2 decimal places)
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